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How good is pedigree? 

Assume 

relationship is 0.5 



In reality 
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Inheritance patterns of DNA 
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Multiple ovulation & single sire mating 



Multiple ovulation & single sire mating 



Multiple ovulation & mob-mating 



Multiple ovulation & mob-mating 

~50% probability 

• Fertilisation capability 

~66% if 3 rams 

~75% if 3 eggs 



Heteroparental superfecundation 



Does it really happen (actual example) 
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Does it really happen (actual example) 

[E]≈0.50 

0.50 ~0.50 

Ram 2 Ram 1 

Ewe 

~0.50   0.51 

0.00 

Actual = 0.21 

33% incidence 
on one farm 



Implications 
• Is the parentage truly correct? 

• Certs 
• Genetic evaluations - star ratings 
• Mating advice/inbreeding 
 

• Only for mob-matings, ram changeover, ET, & multiple AI 
• Not a big issue 

• Genomics can solve 



Take home message 
• Genomic evaluations are based on better relationships 

 
• DNA provides information to generate more accurate relationships 

 
• Heteroparental superfecundation does occur in all species 

• Likelihood is greater in pluriparous species (sheep) 
• Likelihood greater in multi-sire matings 
• Has practical implications 
• Solutions (DNA) exist 

• With additional benefits 


